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FBD: s b«i)bei PV =X X 0008 208 H0 DO =Ry RAVEOTPON

523‘0‘39) + 7 gosdwen = I50= 5x+ 7y =50 - (1)
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5x+7y=50=y= = 46 —7x
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—4 50—-5(—4) 70 —4,10
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YT 5 T 5
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— P g A
50 —-5(10 0
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4 <
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1 \ \\
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i) 2x+y-6=0 ii) 4x-2y-4=0

(b) $08 HAEGETOR T°D T(T° FQoSod:

lLe., a8 bf()bé 2o =33 200030 28 g dw =35

Sol:2x + y-6 =0 ; a; =2, b; =1,¢c, =—6
4x-2y-4 =0 ; a; =4, b,=-2, ¢, =—4
a;, 2 1 b 1 -1 ¢ -6 3
a, 4 2’ b, -2 2’ ¢ -4 2
a b
a—l * b—l = 20¢iD BV BSOBOKD 2.8 208 DXL EDA)0ETO.
2 2
DD DD o LAEGETL
2x+y-6=0=y=6—2x dx—2y-4=0>y=2x-2
X|y=6—2x (x,y) X |y=2x—2 (xy)
0[y=6-2x0=6-0=6 | (06) || O |y=2X0-2=0-2=-2 (0,-2)
2y=6-2x2=6-4=2 (22) 2 |y=2X2-2=4—2=2 (2.2)
2| y=6—2xa=6_8=—2 |(4-2)|| 2 |y=2X4—-2=8—2-=8 (4,6)
5 [y=6-—2x5=6—10=—4| (5.4 | L 1|y=2Xx{(1)-2=-2-2=—4a|(1,4)
S
&n Y-axis
, /
e\ (0,6 74
o ° (4, 6)
i =
i scale
4 on X-axis 1cm = 1 unit
on Y-axis 1cm =1 unit
2
2 (2, 2)
1 o e (2,2) 56
X- axis
& 0 I >| a)o&o:ﬁ.)é.)oé.).);)"gdow.
3..2..-1,.0 I1 2.3 476 ........ 789 | e x=2 08050 y=2
29 (0, -2) (4, -2)
3
-1, -4) i \
( )3 4 9~ (5, -4)
5 |
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